@ Rnd

one of these:

 is called 2, ‘B’ is called ¥, C" is called 'S,

called ‘8" and so on, then what will be the
value of F?

® 16

»

of (c) How many members are there
B

(®) One.
(d) Four

'S

(@ Noneof these:
B L by
s will be the time

@

all the numbers divisible by 5 and also those
one of the digits as 5 are removed from the
r numbers will remain?

-

and so on, how will the word ‘BRIG’ be

®) ASJH
@ AQF

(@) Totheimmediaterightof Am



. of letters are there in the word
IrRiSoN, eg('nli a5 many letters
between its twa | as there are
bdmmm-.mn-r,-aw
(@ Two
(© Four Three
(©) Moretharifour

Hnwmany!-muammﬂuhl!nwll\snumbﬂ

(@ onlylisimplicit
() onlylisimplicit__
© bothland lareimplict

‘ut not immediately preceded by 67
4566564554556544564565454

(@) 00ne ki @7
@© Four 2 of the given responses would be 3
o Nonsoruit i

16. Whi i i e
tothe right s D is away from N2 - O

ABCDEFGHIJKLMNOPQRSTUVWXYZ

@ x

@ c @Y

(@) Noneof these

AmongP QR Sand T, Tis shorter than Sand P.Q
is shorter than only P. Who among them is the

shortest?
g —
® R
©T

@ Q
(@) None of these
In a certain code ‘GIVE s written as ‘VIEG®

OVER' is written as 'EVRO". il g
‘written in that code? L e
@ SDK ©) KD

(@) SIKD.

1f water pollution continues at
present rate, it will eventually -A.-,.:
molecules unavailable to water plants.
Assumptions B &

L Water pollution affectsthe
I Watr poluion reducesthe avaibilyofenygen
@ un]yluunplmt
®) only Ilisimplicit

() both Tand [l are implicit -
(d) neither] -
(@) norll —

20. Statements: Man is born free. -
Assumptions. 9

<. Brigadier
1€ December 14 is Wednesday then what was the
day on November 18 of the same year?
(@) Tuesday (®) Friday
(© Wednesday  (d) Sunday
(@) Saturday

.

(®) TROUGH
(@) GREAT ~

Al
(a) GRAPH
(© PATHOS
(e) HUGE
1£ you are cleventh in a queve starting either end,
Tow many persons are there in the queue?

(@ Heven &) Twenty

(© Twentyone (@ Twentytwo

© Twenty

26 Ram has got more bank balance. Tha
" fham Mhan - Akbar has lss bank balance than

Asjun but more than Ram. If Mohan's balance is
then who s the richest of all ?

represents Mis daughter of

®) K. R+M
@ K-RxM

ands forsofe ha flower, ingo
‘sweet flower fragrance and mst
ﬁm than smile what would

®) mst




@ a
©c

1 slditive E
e

I:’): S S S s alabls e trom the four stermatives
‘that would complete the figure matrix.
Select a suitable figure from the four
that would complete the figure matrix.



e
40, Select a suitable figure from the four altematives
that would complete the figure matix.

table figure from the four altematives
complete the figure matrix.

LR LR (R

I

@ a ® b
o o
o

R —.

that would complete the figure matrix.
Directions—Q. 41-55) Red the following passage

T
=k
e e .
ay,nmmnnmnmdm ling.
2 || to the routine matters people had brought to him. He
happened to be in a bad mood that day. Just then, o
== uﬁvuiwdh-m.wlﬁumesagnhanh:
e G e King i, kg
8.bs ‘e CdP o immediately and all the courtiers respectfully got to their
Yalis ® b mmmm seated unaware that lhe
© ¢ @d dﬁw obewas eaty e King who perceived his
@ e an insult. He ordered the jester to leave his.
" thatwould complete the figure matrix. under penalty of death. The courtiers were upset and

protested. The jester was amusing and wellliked. But the
jester obeyed the King's commands and left the palace

thejesteroleave his court. The King's anger had subsided.
lkm 40 invite the jester to return to his court.
Messengens were sent toneighbouring kingdoms to search



fortheiester and bring him before the King.
Howeverthe very nextday, when the King wasstanding
he sawa i

45. Which of the following cannot be said about the

1 i hisord

2. He had enjoyed visiting China so much he

tothe Kngdom without my permission " ~our Majesty”
for Ch

sy you.

e 4
h(v\mﬁ'(\mlhem(mnn\u\g

]

1

&

1. Why was the jester travelling in 2 camiage flled
with earth ?
1. To remind him of his vistto Chia 0

2 Todemnmnale}wchndnoplxzhl&.
3

3. Hedidnotrespect the King because of his short
temper.

®) AlL2&3
(@) Both1&2

(@) Only 1

(@ Both2&3

(@) Noneof these
What s the impacto thefest beng absent rom
court for

O The i grow miow depreMet ity

{5) A lot of time and manpower was wasted

e jester
©) The King was no longer irritated with the jester

(@ Only1,2
© Only3

(@ Noneof these:
Wlly did the King leave the w-n_lu—

® Oniyl <
(@ Only2..

(@ Anot!
(@) The jester settled down in a neighbouring
country

47, Why was the King angry when he saw the jester in
2 carriage?

s W 8 (@) The jester had notattended court despite being
® F inthe Kingdom
(b) He realized that he had e ®
from China
(©) He was upset that day- (@) The jester had not obeyed the King’s order to
(@) He wasangry bcause the e failed 10 pay leave the Kingdom
‘him due {d) The jester had not acknnwledged the messages
senttohim by the!

(@) Noneof! ey

. Why did the King hmuelfankd\th—.

his court?

(@) He had not paid ool Tespects to the King on
China

@
) Trejterdid ot heed herequest e King
sentthroughhis
(© The courtiers aught the Kig Wad ool
throw ot theester

ige ?
e

® m;’smqm(kmmdwhadmany friends
ry hard to

@ The
interprefing his orders
(© Noneofthese

. Why did the jester remain seated while the King.

was leaving 7

(@) To show he was unhappy with the King's
decision toleave carly

). To get the King s attention.

(©) To show the King that leaving early was
insulting to those who had

(@) He did not realse that the King was leaving

© e Queens

©T
find thejeter
€)Mt ot e o the cout il he King
had asked forgi
© The P Ringmers i

r Wmeh nf m following describes the jester's
Kings orderto leave the Kingdom

" 1. Hewas happy because healways wanted ovisit
theneighbouring count
2. He was upset because he would have to move




57. lfyou lete th

3 G ontime you must carefully planned.
prestige. = <
(@ Oniy1 () AllL2&3 careful
(c) Only2 (d) Only3 ®) plan carefully
© None © carefully planning
s0. wv.ymn..mu-mpm»—-r-—b' carefully
@ e (©) Nocorection req
® 58 e i
(©) To give the jester a chance to apologise for his policies are enforced in order to prevent frauds.
e o (a) ensured
(@) Tomakesure of the dentity ofthe passenger
@) None ofthese. Ol
Q. 51-53) Ch ©
IMIL (@ byenstiring
thepassage. (e) Nocorrection required
51. Spied 59. During herstudies finance, she returned to India to
@ watched () followed ‘manage her famil
(© stared (@ gazed (@) Shestudied in
(©) noticed ®) During studying
(©) While she studies
(@) awake () stood (@ Afterstudying
(© upright (@ climbed (@ Noctrection
© 60. Weare sill submitted our proposal o the committee
53. Subsided next week and will await their decision.
(a) lessened (b) failed (a) aregoing to submit
© collapse @ calm ) will submit il
@ fall (© have submitted
irections—(Q. 54-55) @ il
OrEOSm (©) Nocorrection required
i irections—(Q. 61-65) In each question below a sentence
() later ), (b), (c)and (d).
(O relaxed (@ lately,
(© unwilling i 4 s
55. Pleasing i any, The letter of that word is your answer. If all the words
(@sorrow ®) disliking printed in bold are correcty speit and also approprinte in the
© wminx @ offending contextofthe sentence, mark (€ ., ‘All orrect”as your ansizer.
©) hati 61. Inthelatest (a)/ few numberof contracts

Dueclmns—(Q 56-60) Which of the phtases (a), (b}, c)

in bold in the sentence to make it grammatically correct ? If the
ired, mark

(e)as the ansur.
56.

‘months the number
(b)/ ‘we have secured (c) has declined (d) sharply.
correct (e)

o No-.-.- compensate (b) you for
b ‘S",mmg..,.mmm,‘umm

operational in two years.
@ likely will

() willbelikely

(© likelytobe

(@ inalllikelihood being
(©) Nocorrection required

estment of several
(M foemigner companieainIndia. (2) Al correct (©
n-— (@) is suppose (b) to meet tomorrow to

‘the purchase (d) of new premises. All

-hdn- intention (a) to keep a check (b) on the
* expences o) incurred (d) by them. All correct (¢)



Directions—(Q. 66-70) Rearrange the following six
(), (0@,

‘The error, if any, will be in one part of the sentence. The letter of
i

fany)

them.

n n.mmnaemm(.)/sx,uﬁum

(@ Bt help to banks. (dy Nn
indoubt, whewnkuuucmn,lmau‘lnam U il

* & h:d;v::hi:gmn i : o 72 This project which s funded &)/ by the Urited
gaining independence. -

(@ After the battle his licutenant said, “Sir, no one can Tndians ovenicothpovertyi (Mo e ()
change destiny " 73, The mergertalkshave o)/ taken longer that () e

@ o
attack the enemy although his Imy was error(e)
outnumbered. 74. His share of (a)/ the money fromthe sale (b)/ off the

(©) The general then showed the the coin property will )/ be given tocharity. (4) Noerror (e)

“Wemake

our own destiny”

() When the coin camduwnmm

from four toten per cent (c)/ in the next ten years. (d)
Noeror (¢)

blaks,each of which has been mumbered. These mumbers are

6. Whieh o the following hould betel i
sentence ifter rearrangeméhl B printed below the passage and against each, fivé words are
@1 ) 2% i suggested, one of whichits the blank appropriately. Find out the
©3 @4 appropriate word in each case.
©5 2 One day while a poor farmer named Fleming was
67. Which of the following should . iS .76).., he .(77)..acry for
e oA 8 : »
@1 ® 2 et hesaw ateriied boy (7).t free himsef The farmer
. savesd the boy. The next day, a ancy carriage .(79)..uptothe.
o.8 Ak g . An...(80)..

@5
. Which of the ‘olluwm! el ubgi

sentence after:
(@ 2 "3 “ 8
©4 @5 i ri =

©6
- Which of th following should uuﬁl

sentence after rearranger

@1 ® 2
©3 @ 4 : o
©5

Wrich ofthefollowiag should be the FouRTH
sentence after rearrangemer

@2 ® 3 W
©4 @6
m 5

jons—(Q. 71-75) Read each sentence to find out
ke re any grammaticalerror or idiomatic error i it

had saved.
life.

said, Tl make you a deal. lﬂmymv-de"mwulh\hknd
‘of education my son would

The farmer’s son attended the best schools and

ted from St. Mary’s Hospital Medical School in

' e
‘a5 Sir Alexander Fleming, the discoverer of penicillin. Years.
i
saved by illin. The nobleman’s son was Sir
Wicion Chunchl e iesof B
76. (a) career (b) labour
(¢) livelihood (d) business
(e) profession
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]

. Usha is twice as old as Rita. Three

(@) struggling  (b) attempted © 27 @ 64
(© seek (@ rushing (© Noneof these
0 s e o any s o e g, 1
was. w many birds he had in the bag, He
o VT T they el partows bu s ll igeans ot
(© entered R sixand all doves butsix", How many birds had he
(@) approached. inall?
(a) expensiy (b) ordinary @18 ® 9
@ war " @) elegantly @2 @ 64
© © Noneofthese
o Howmany
Quantitative Aptitude :vl;';u!&mlntht(;umef
Complete th © 1 @10
18 2 (@ Noneofthese.
@ 30 ®) 35 89. Complete the series
@12 @14 )
© Noneofthese
‘Complete the series
1,8, 27, 64, 125, 216 ..
@ 343 ® 512 90.
© 79 @ 1000
(© Noneof these
Suppose you are in charge of a Military Command
‘uarding a bridge and you receive a message from
the bridge that the enemy forces have almost
message would you send ?
(@ Orderair-shelling
®) Breakthebridge
(©) Sendmore troops.
(@) Surrender o them 0.
(© Noneof these
Supply the missing figure :
3,11,8,16, 13 . 18
@15 ® 17
© 14 @21 93. A Shephered had 17 sheep. All butnine dicd. How
(© Noneof these —qann-ur

st ime e o s i, oy od 1 G
now? ;

@ 7years

© 6years

(© Noneof these:
IR:= = K, where R, § and K are integers. Find
the smallest positive integral value of K. (Greater

®) 9 years
@ 12years

@) 4 © 8

@9

T 5 bues
!‘“' &

(07

in the series: 14, 16, 13, 17,

® 19
@14

will starton January 1in
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2

101

103

and so on, what do the numbers

(e) 99929

3 LelNb:d!epealennumbzrﬂulmlld:wde‘lws,

case. Then sum of the. 4.,.:; N

(© 99539 (d) 99959

3,9,7 stand for? @ 4 s
@ BD ® BAD © 6 )
© BED (@ CAR o
Noneot 105, Sanal has 60 red marbles, 156 blue marbles and
dGedjong ot these e 204 green marble,He istibutes them amongt
! .
5-66,742= sa,s.u:mm, s+4=? nd 5010 has marbis of mrs han ne ol
@ 48 ®) 1 Find the numberof ki
© % b @ 12 o0
© Noneof these © 3 @ 36
Whichchice proides the noveri e @ 25
36, 574400, 612 “‘"”"h 106. Two numbers arein the ratio of 11: 13. I the H.(OF
o of these numbers is 19, determine th
Gyises (@ 304,369 ©) 209,247
@ 25 % © 182,19 (@ 182122
oo @ 209100
‘The least number which when divided by $.8.7 107 Anand finishes awork in 7 days, Bittu finishes the
and 8leaves aremainder, but whendividedB¥8  gume job in 8 days and Chandu in 6 days. They
leaves nd semainder, i take tums to finish the work. Anand on the first
® 1677 ©) 1683 “ day, Bittu on the second and Chandu on the third
© 2523 @ 3363 . day and then Anand again and so on. On which
© 225 daywill the work getover?
. Therdsa ceran fourdigit number whose fouth @3 ® 6
igitis twice the fist digit. Third digits three mese. © 9 @7
than second digitSum o he irs and fourthdights o1
108, days.Bi
(e ©) 4368 efficient than (2) How many days does Balone take
© 418 @ 316 Ry
© 425 (@ 7days () 15/2days
A worker is paid Rs20/- for a full days work He () §days R
works 1,1/3,/3,18,3/4 days in a week. What s the. !
total amount paid for that worker ? lthipoe sl these
b Pt 109. A man buys an artcle for Rs:27.50 and sells it for
s sy Rs.28.60. Find the gain percent.
Qe @6 ® 4
16 the number 42573 i exacly diible by 72 ©7 @s
then the minimun value of * © 1
@ 4 110, A kind of tapeis selling ata profitof 12%of slling
©6 @7 price, equal to18 cents per yard. What s the selling.
e price of the tape?
Anumber which when divided by3,4,5,6,7, leaves 115 L0
the remainder 2, 3, 4, 5 and 6 respectively. Such @420 @) 250
largest 5 digit number s (© noneofthese
@ 9990 ®) 999579 111, Ajith sells a table to Ajay at 10% profit and Ajay

sellsitto Anoob at 10% loss. Atwhat price did Ajith



115.

16.

A Jogger running st 9 amph
arackindengen

the restof the journey. If he took 42 minutes for the

e - entirejouney, what prt ofthe journeydid he:
journey, what part
(0 Ri2200 N — given that his average speed for the entire journey
© Rez27s Tk
- The s of oty X ncrmes by 0 paiee i e

by 15 paise every year. If in 2001, the price of @i @ Sk
commodity Xwas Rs 420 and thatof Y was Re. 6.3, © 7im
im which year commodity X will cost$0paisemore 119 A certain sum becomes 8 times itself in 3 .
than the commodity Y7 under compound. interest, interest being
@ 2010 ® 2om - How many years would
P b sum takes to become 64 times itself?
@200 @ 12 8
The costpriceof w0 types of e are Re.180per e o
kg and Rs. 200 per kg respectively. On mixing @7

e A Ra6500at13% pa.
wlg.lnmemlemmm,u.epinmm e yongy!
@ 10% @ Rs3280 ® Re3350
© 12% @ 13% © Rs3250 (@) Rs3380
© 1% (© Rs3300

. How many lerms are there in G.P3,612.24,...,384?
©8 @7
e 121, Which ofthe following States will soon have it irst
Fourangles of a quadrilateral are in G.P. Whose O Akpee
common ratio is an intiger. Two of the angles (ORC 7
are acute while the other two are obtuse. The (®) Maharashtra
measure of the smallest angle of the quadrilateral ©), Assam .
is «
@ 12 ® 24 (© Sikkim
© 36 @48 122 Who amongst the folloing made the 41 Tes
© 54 Cumydﬂl_mmuu
i i ; ®) V.V.5.Laxman

‘man standing on the platorm in 27 seconds and 17 e e R
seconds respectively and they cross each other in © Nonéofthese
23seconds. =
A2 © 34 the Mission Chandrayaan 17
© 32 ) 34 (a) Preparing dimensional atlas of the lunar surface.
() noneof these u Ghemical Mapping of the entir unar surface.

ahead of the engine of 2120

‘metres long 45 kmph in the same
i tahow o e il thatrimpasthe
(@) 36sec ©) 18sec
(© 36sec @ 72sec

(©) 28 sec
Deepak walked at & kmph for a certain part of his.

(n) Only (a) () Onl
© Only(c) @ Alxm m&m
(© Noneof these
o following States introduced a high tech
system to ensure timely supply

enst
foodgrains to 3 peopleliving below poverty

Maharashtra () Tamil Nadu



B

13

© Deuu
@© Ka
Whidhof uu following is NOT a part of India’s

(d) WestBengal

(b) Call Money Market
(@ Mutual Funds

(@) Indian Gold Council

Which of the followingis the bjective of the project

(c) Make SAARC. munmes e
foreign trade partners|
® Onl (b)

(A All(a), (b) & ()

(@) Only ()

(© Only(9)

(€) Only (a) & (c)
hen Harper whose name was

news recently

isthe..........
(@) Presidentof Canada

“Bhoomi Keralam
(@) Toconductasurvey of the land.

(© PresidentofTtaly

® @

‘and settled in other States {€) Foreign Minister of US.(a)
© i 1.

in distress are @ Urea
(@ To ideniy those sibals who ....-n-- ) Murateof Pota

tance DS Amonium Phosphate
© N M o Cubﬂm:
Wl\l:hn(lhe  follving mm--hd-—
crore JSW Steel Plant project was

@5 vy m s gt in West Bengal recently. The project is
(©) SouthKorea  (d) North Korea 5 in
(© Noneofthese R (®) Nandigram
Which of the following awards. m-*-hﬁ (@) Malda
‘Bhimsen Joshi recently? - w
(a) Padma Bhushan 1 Whichot Govts. Has announced
(b) Sangit Natak Academy Award ! uhwﬂl provide a special package of incentives
(9) Maharashtra Bhushan - i Employment Intensive lndu-tﬂe-
(@ Kamnataka Ratna o o @) Punab ) Kar
() Bharat Ratna (e Tamil Nadu (0] UI(:: Pmduh
‘Which of the following: Sl‘klynlil_ @ Bihar
recently? 136. Vlhkh nl the following nations has decided to
@® Hayana @ Aronachal p..i_m s cooperationinthe ield of energy with
(© Sikkim (@) Manipur o .
(@) Jammu & Kashmir (@) Russia (®) China
Barack Hussain Obama mon., to whigh RS )  Bangladesh,, ., (). Nepal
following political parties © Japan
(a) Republican 137. Which of the following services is NOT provided
® Demwihc by the postoffices in India 2
© La (a) Savings Bank Scheme
@ Ammm National Congress (b) Retailing of Mutual Funds.
(©) Noneofth (©) Sale of stamp Papers (udicial)
Which of the following is/are NOT the features of . Jsowagoe: "’D‘m"d Peay
India’s Foreign Trade policy? @ Lifelnsura
(8 TodoubleIndia's percentage shareof obaltrade 138 Mulumnued Annl Nnh«d is the newly elected

from present0s7 per cent to 15 per cent by 2009. President
(b) Simplifying the procedures and bringing down ) Fiji (b) Maldives

the cost © Ing @ Iran



. Who amongs

(©) Noneof these
t the following n the winner of the
Nobel Prize for Literature

(@) Jean Marie Gustave leclmn

) Martti Ahtisaari

(), YoichiroNambu

(@) Francoise Barre Sinoussi

(&) Noneof these.

. A national level commission of India has asked

abouttwentySats toset up whicho the ollowing
s in their States as carly as possible ?
@ FarmersCommission

(b) Women Commission

(© Child Welfare Commission

(@ Law Commission

© Noneofthese

P  Vidhyalay
(©) UltraMega Power Project
@ n.,w Gandhi Grameen Vidyuthikara Yojana
(© Noneof these.
146. The Govt. of India decided to providea bonus pric
of Rs. 50 per quintal on which of the lnllawmg

products over and above ts minimum support price
of Rs. 850 per quintal ?
© @) Wheat ) Paddy
(© Sugarcane  (d) Cotton
(©) Noneof these
147. Whoamongstthe following s the authorof the book
“The Namesake' ?
@) VikamSeth () V.5. Naipaul
() ArunBhagat () Anita Desai
© Jhumpa Lahiri

by the Reserve Bank of India (RBI) to ease the

liquidity crunch in the country ?

‘with which of e following countiesandis named
for Peaceful uses of

(@ Cut in Cash Reserve Ratio and Statutory N“‘"""" g
Ratio. (a) Taly ~ ) Germany
(b) Increase the flow of foreign direct investment. (c) France " (@ Canada
(c) Supply of additional currency notes in the (e) Australia
market 149, Taipi Livini whose name was in news recently is
(@ Only(a) from which of the following countres >
© Only(© (@Al () & ) @ Singapore (b) SouthKorea
© Noneof © Austria @ Istact
India Brazil and South Africa (IBSA) (© Noneof these:
h of ies 150,

recently? il
@ Brazilia () New Delhi (@) 16th September (b) ‘16th October
©' Suncity @ Salvador 9 16h November - (d) 26th September
© Durban (© 26th October
Which of ol 'aGovt. Sponsored
{hrsenic Removal Plants in ai th disrictsof the .

(@ Sm:
waterto all the people by 2010-11 7 = ) NABARD
(@) Kamataka - (b) Kerala prde
s - ) National Housing Bank
B @ s

© AllareGovt. 5

Who amongst the following is the
e 'gis the author of the book

152 ‘Merdeka Cup’ is associated with the game of

(@) G.Verghese " (b) Philip Roth =z
© Aravind Adiga (&) NavieSoran (@) Badminton (5) Football
(¢) Noneof () Hockey (@) Golf
Which of the following programmes is being 155 e oo

3 @ Portblair (b) Hassan

(@) Sarva Shiksha Abhiyan



(© Tirupati (@) Kochi
(@ SriHarikota

The National Games scheduled in 2011 will be
organized in

@ Bengaluru  ®) Goa

© Kolkata (@ Kochi

(@) Jaipur

Which of the followiing diseases is not covered
‘under Integrated Disease Surveillance project 2
(@) Cholera () Tuberculosis &

© AIDS @ Polio.

(© Cancer T
Which of the following is TRUE sbout Antyodays
 Anna Yojana'? b mav

(@ Schemeis for Below Poverty
® People ae provided cobked ﬂ.&h the

© AllbmeﬁnanesoannmulR\nﬂ ¢
Guarantee Actare in this
(@) Only(a)
(© Only ()
(©) None of these

- Jelena Jankovic of Serbia won which of the
{ollowing e oftenisafe

) Only (o)
@ All@), m)hé)“ &

Kurnetsova
@ ChinaOpen

(®) Japan Open

(© New Zealand Open

(@ Australian Open

© Noneofthese
Whoamongstth following s the
Affairsin Union Cabinetof India at present?

© 1 (@) ShivrajPatil (o) Laly Prasad Yadaw ¢
() P.Chidambaram (d) shmdhwnl -

© Noneofthese .

2

161

(9 Coaching in Sports
(@) Journalism
(@ Noneofthese

Computer Knowledge &
Marketing Aptitude

A term for vertical page orientation:

(@) Portrait (o) Formatting

(© Alignment (d) Landscape

(e) Nature
arrangement oftextin the document:

(@) Indent )/ Formatting.

© Space (@ Break

(© Alignment =

The distance between text boundaries and page

margins: -

@ Margin ® Indent

(© Spacing @ Tab

© Alignment

Ttalheightoflineoftestinciding extrs spacing
is known.

their net bank credit to Priority Sector is advance ?
@ 5% © 7% .
© 10%

(&) Noneof these
Dronacharya Award s given for excellence in

@ 15%

(@) Literacy Work
(®) Social Service

(@) Alignment (®) Indent
(© Breakspacing - (d) Line spacing
(@ Margin
The key stroke for up one paragraph
(@) Ctrl+uparrow{B) ‘Ctfi+ rightarrow
© Pgup @ Pgdown
(© Ammowkey
You can start a new document new. an
which is under the menu: 21 v
(@ Window ©) Edit
(o) File (d) New
(e) Noneof these
. You can select text with mouse by:
(@ Chckinddn
® Click-
(9 Bothaandb
(@) Click and shift method
(&) Noneofthese
Usually the date is entered in the form:
(a) DDMMEYY ®F YYDD-MM
(© MM-DDYY (d) MM-YY-DD
(e) DDYY-MM -

To centralize thetex th alignment o be used:
®) Lokt

(@) Right <



ark ina d

@) Chart ®) Wordart
(© Centre (@ Allofthese R @ Graph
© Noncaofthese R
17 e e 180. Whatis the default font size of a new document
(a) Red g ‘based on. template?
for e e @ 10pt ® 12pt
o i © 1pt @ 18pt
1721 you want o create 8 new document based on
Blank document template, instead of choosing file, @© 20pt
New,just clck the New button on; I81. AProsy serveris used forwhich ofth fllowing?
(@) Statusbar ®) MenuBar (@) To provide security against unauthorized users
(© Standard tool bar (d) Titlebar ) Toprocessclient requests for web pages
© Scrollbar © T i
72 18, @ Toprovide TCP/1P
document, you will use: (© Noneof these
@ Ve ® Editions 182, Whendata in multiple lists and all lists are
(© Tracks (@ Previous not updated, this causen:
@ Hin @) dataredundancy
s o 0
ownas e,
@ Outlid () Raioed Pl
© @ Subseript -
© Upsaript - e
2 - (@) Planning Commission -
@ F5 ®) F7 ® -
© @ Shiter bl e
(© None of these @ |Commission
175. Which of the following task is done by using b o
ina documen

176,

7.

@) Toadd anchors in web page
®) Tomarkend of a paragraph

3 mms-amuag-s..nnubeymug«

2009sto0d at—

() Tojump tospecific location in document =3

(@ Toadd hyperlinks :;’ ;:"""f“'""""'

(€) None of these - "

H . (€) None of these

(@) Insert ®) View 185, i o

(©) Format (@) Tools ‘_"'*'__H: ‘Partnership came to be introduced
() Add (a) Mitigate:

A ¥ o ;

Words you type ‘unbundling ofnfrastructure

(@ Sh 5 ®) i © Aber '80ods and services from
(©) Misspelled (d) Noneofthese pure public to private ones

(@) Allof these @ Allof the above

() Source () Datasource i econometric analysis means—
(© Maildata (@) Datasheet for each disturbance term (Vi) is
(e) Database alli's

for each disturbance term (Vi) is



(@) Arelinear combinations

the same forall i's (@) 44e34years  (b) 3692 years
(@) Theco-variance for each pair of disturbance term (© 29e32years  (d) 26966 years
isthe same (€) Noneof these

@ i of di term 193

Jpngtihe same (@) Necessary to the employmentof the poor
g TooeSthese . ) Animpedimenttothe growthofaneconomy

3 © —

] @

S igind 6 Nomoress
® = >

pp e (@) Pattem of trade in terms of relaive factor
© i -

country may import products which use
”'f.ZL-a,a.“"’ s scarce factor

= q Mlybetpplnnblem-llmdpwdm
© o-.p-uma-mn-nmmmm
ofthe returns of the marginal firm

a,y The value of covariance between
‘periods depends only on lag between

periods
() The value of covariance does not

actual time at which nm%
(@ Alltheabove

© Noneof these 197. m-lnpeommlnmmnu.m—a—
(@) To represent important variabls that are not u» Aratio of marginal utility of one good to another
o qualitatively measurable ‘q Both (a)and (b)

(© Asbinary variables m Noneof

@ To dmmsmsh between two groups of 198, ’P-w -n«mmmmmmy

@ Allofheabove m mmammnkwmn

®) Exportsand imports not facing any tariff barrier
® Help toincrease the (©) Exports and imports not facing any technical

degrees of
© Hdpbndmhg\dwﬂmlh'&—ﬁy

(@ Allofthe above (@ Allof theabove
(@ Noneof these: (e Noneofthese
1 world i thenit 199

will double in—

(a) Started in 1986 and completed at the end of 1993
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